1a. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

Gender EDUCATION Decided-Voters Leaners
Male Female 18-34 HS Post Sec Univ Grad The The Liberal The New The Bloc Or some
Conservative 144" Democratic Québécois other party
Partv
Base: All Respondents (unwtd) 1001 472 529 261 390 350 45 179 415 362 269 330 159 25 30
Base: All Respondents (wtd) 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
The Conservative Party 237 120 117 45 91 101 17 90 91 39 237 - - - -
24% 25% 23% 16% 25% 29% 20% 25% 23% 25% 92% - - - -
The Liberal Party 267 135 131 70 95 102 11 83 113 59 - 267 - - -
27% 28% 25% 25% 26% 29% 13% 23% 29% 38% - 85% - - -
* F FGH JL *oE *k
The New Democratic Party (NDP) 139 69 70 49 43 47 17 54 52 16 - - 139 - -
14% 14% 13% 18% 12% 13% 19% 15% 13% 11% - - 86% - -
The Bloc Québécois (BQ) 34 20 14 6 18 10 2 17 13 2 - - - 34 -
3% 1% 3% 2% 5% 3% 3% 5% 3% 1% - - - 85% -
* * %k %k 3k
Or some other party 24 14 10 10 6 8 4 11 7 2 - - - - 24
2% 3% 2% 1% 2% 2% 1% 3% 2% 1% - - - - 74%
* * %k %k 3k
Would not vote/None/Would spoil ballot 56 34 23 31 16 9 12 16 26 2 - - - - -
6% 7% 1% 11% 1% 3% 14% 1% 7% 2% - - - - -
Don't Know/Not sure 244 93 151 69 101 74 24 96 90 34 21 48 22 6 8
24% 19% 29% 25% 27% 21% 28% 26% 23% 22% 8% 15% 14% 15% 26%
A * J * %k * %k
Sigma 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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1b. Well, which party would you say you would lean towards?

Gender EDUCATION Decided-Voters Leaners
Male Female HS Post Sec Univ Grad The The Liberal The New The Bloc Or some
Conservative 144" Democratic Québécois other party
Partv
Base: All Answering (unwtd) 223 81 142 54 100 69 14 44 90 75 20 44 23 3 7
Base: All Answering (wtd) 244 93 151 69 101 74 24 96 90 34 21 48 22 6 8
The Conservative Party 21 3 18 5 5 11 2 9 8 2 21 - - - -
9% 1% 12% 7% 5% 15% 9% 10% 8% 6% 100% - - - -
* * * * * %k * * * * 3k * * %k * %k * %k
The Liberal Party 48 19 29 15 23 9 2 17 22 7 - 48 - - -
20% 20% 19% 23% 23% 12% 7% 18% 24% 21% - 100% - - -
* * * * * %k * * * 3k k * * 3k * %k * %k
The New Democratic Party (NDP) 22 10 12 7 7 9 2 7 12 2 - - 22 - -
9% 11% 8% 10% 7% 12% 8% 7% 13% 5% - - 100% - -
* * * * * %k * * * 3k k * * 3k * %k * %k
The Bloc Québécois (BQ) 6 4 2 - 1 5 - 5 1 - - - - 6 -
2% 1% 1% - 1% 6% - 5% 2% - - - - 100% -
* * * * * %k * * * 3k k * * %k * %k %k 3k
Or some other party 8 1 8 5 1 3 4 2 1 * - - - - 8
3% 1% 5% 8% 1% 4% 18% 2% 2% 1% - - - - 100%
* * * * * %k * * * 3k k * * %k * %k %k 3k
Would not vote/None/Would spoil ballot 8 2 5 3 4 - - 5 2 1 - - - - -
3% 2% 1% 5% 1% - - 5% 2% 3% - - - - -
* * * * * %k * * * 3k k * * %k * %k %k 3k
Don't Know/Not sure 131 54 77 33 60 38 14 50 45 22 - - - - -
54% 58% 51% 48% 59% 51% 58% 53% 49% 64% - - - - -
* * * * * %k * * * 3k %k * * %k * %k * %k
Sigma 244 93 151 69 101 74 24 96 90 34 21 48 22 6 8
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/Well, which party would you say you would lean towards?

Gender EDUCATION Decided-Voters Leaners
Male Female 18-34 HS Post Sec Univ Grad The The Liberal The New The Bloc Or some
Conservative 144" Democratic Québécois other party
Partv
Base: All Respondents (unwtd) 1001 472 529 261 390 350 45 179 415 362 269 330 159 25 30
Base: All Respondents (wtd) 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
The Conservative Party 258 123 135 50 96 112 19 99 99 41 258 - - - -
26% 25% 26% 18% 26% 32% 22% 27% 25% 26% 100% - - - -
The Liberal Party 314 154 160 85 119 111 13 101 135 66 - 314 - - -
31% 32% 31% 30% 32% 32% 15% 27% 34% 43% - 100% - - -
* F FGH JL *k *k
The New Democratic Party (NDP) 161 79 82 56 50 56 18 61 63 18 - - 161 - -
16% 16% 16% 20% 13% 16% 21% 17% 16% 12% - - 100% - -
The Bloc Québécois (BQ) 40 24 16 6 19 15 2 22 14 2 - - - 40 -
1% 5% 3% 2% 5% 4% 3% 6% 1% 1% - - - 100% -
* I * %k %k 3k
Or some other party 32 15 17 15 6 10 8 13 8 2 - - - - 32
3% 3% 3% 6% 2% 3% 9% 1% 2% 1% - - - - 100%
Would not vote/None/Would spoil ballot 64 36 28 34 21 9 12 21 28 3 - - - - -
6% 7% 5% 12% 6% 3% 14% 6% 7% 2% - - - - -
Don't Know/Not sure 131 54 77 33 60 38 14 50 45 22 - - - - -
13% 11% 15% 12% 16% 11% 16% 14% 11% 14% - - - - -
* * %k * %k
Sigma 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:

Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N

Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:

Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N

Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/Well, which party would you say you would lean towards?

Gender EDUCATION Decided-Voters Leaners
Male Female HS Post Sec Univ Grad The The Liberal The New The Bloc Or some
Conservative 144" Democratic Québécois other party
Partv
Base: Decided Voters Leaners (unwtd) 813 390 423 204 304 305 31 143 334 305 269 330 159 25 30
Base: Decided Voters Leaners (wtd) 806 396 410 212 290 304 61 297 320 129 258 314 161 40 32
The Conservative Party 258 123 135 50 96 112 19 99 99 41 258 - - - -
32% 31% 33% 23% 33% 37% 32% 34% 31% 32% 100% - - - -
The Liberal Party 314 154 160 85 119 111 13 101 135 66 - 314 - - -
39% 39% 39% 40% 41% 36% 21% 34% 42% 51% - 100% - - -
The New Democratic Party (NDP) 161 79 82 56 50 56 18 61 63 18 - - 161 - -
20% 20% 20% 26% 17% 18% 30% 21% 20% 14% - - 100% - -
The Bloc Québécois (BQ) 40 24 16 6 19 15 2 22 14 2 - - - 40 -
5% 6% 1% 3% 7% 5% 1% 7% 1% 2% - - - 100% -
* %k I * %k %k 3k
Or some other party 32 15 17 15 6 10 8 13 8 2 - - - - 32
1% 1% 1% 7% 2% 3% 13% 5% 3% 2% - - - - 100%
D * %k * %k %k 3k
Sigma 806 396 410 212 290 304 61 297 320 129 258 314 161 40 32
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2. Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?

Gender EDUCATION Decided-Voters Leaners
Male Female HS Post Sec Univ Grad The The Liberal The New The Bloc Or some
Conservative 144" Democratic Québécois other party
Partv
Base: All Respondents (unwtd) 1001 472 529 261 390 350 45 179 415 362 269 330 159 25 30
Base: All Respondents (wtd) 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
Top 2 Box (Net) 552 279 273 188 206 159 36 200 216 101 56 282 70 14 16
55% 58% 53% 67% 55% 45% 41% 54% 55% 65% 22% 90% 43% 35% 48%
DE E * FGH JL J *k *k
Strongly approve 113 58 55 37 38 38 2 42 48 21 13 81 12 1 -
11% 12% 11% 13% 10% 11% 3% 11% 12% 14% 5% 26% 8% 3% -
Somewhat approve 440 221 218 151 168 121 34 158 169 80 43 200 58 13 16
44% 46% 42% 54% 45% 34% 39% 43% 43% 52% 17% 64% 36% 32% 48%
E E * H JL J *k *k
Bottom 2 Box (Net) 449 206 242 91 165 192 51 168 176 53 202 33 91 26 17
45% 42% 47% 33% 45% 55% 59% 46% 45% 35% 78% 10% 57% 65% 52%
C CD I* | | KL K *k *k
Somewhat disapprove 241 116 125 65 88 88 30 81 101 29 79 28 60 15 9
24% 24% 24% 23% 24% 25% 35% 22% 26% 19% 31% 9% 37% 37% 27%
Strongly disapprove 208 90 117 26 77 104 21 87 76 24 123 4 32 11 8
21% 19% 23% 9% 21% 30% 24% 24% 19% 16% 48% 1% 20% 28% 25%
C CD * | KL K *k *k
Sigma 1001 485 516 279 370 351 87 368 392 154 258 314 161 40 32
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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